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Graphs of sin, cos, and tan

Graph the function y = sin(x) domain D = R range R = [−1, 1]
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Graph the function y = cos(x) domain D = R range R = [−1, 1]
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Graph the function y = tan(x) domain D = R− {π
2
+ kπ | k ∈ Z} range R = R
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Amplitude, period, and phase shift for sin, cos

Amplitude A
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Amplitude, period, and phase shift for sin, cos

Phase shift S
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y = sin(x)
y = sin(x − 1)

y = cos(x)
y = cos(x + 2)
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Amplitude, period, phase shift

When y = a · sin(bx + c) or y = a · cos(bx + c)

Amplitude A = |a|

Period P =
∣∣ 2π
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Phase shift S = −c
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Graphing sin and cos - exercises

Find amplitude, period, and phase shift. Graph the function over one period. Label all maxima, minima, and roots.
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Graphing sin and cos - exercises

Find amplitude, period, and phase shift. Graph the function over one period. Label all maxima, minima, and roots.

3 y = 5 cos(2x − π
2
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Graphing sin and cos - exercises

Find amplitude, period, and phase shift. Graph the function over one period. Label all maxima, minima, and roots.

5 y = 7 sin(3x + π)

A = 7, P = 2π
3
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Graphing sin and cos - exercises

Find amplitude, period, and phase shift. Graph the function over one period. Label all maxima, minima, and roots.

7 y = −5 sin(6x − π)
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